DATA: 18/03/2014

ARy
i e

TITOLO: IMPASTATRICE SX 50/60

DISEGNATO: D.G

CODICE:

O,




NUMERO |CODICE DESCRIZIONE QUANTITA'" |PREZZO NETTO
1/RG100876 CUSCINETTO 6205 2RS 2 9,00
2|RG102809 PIASTRA SUPPORTO CUSCINETTI SPIRALE 1 5,60
3 RG100801 PIGNONE SPIRALE Z16x1/2 foro 25 1 14,50
4/RG102808 SUPPORTO SPIRALE IMP SX 50/60 1 150,00
4 RG102749 PIEDINO IMP SX 50/60 4 11,50
5/RG102927 LAMIERA COPRIASOLE IMP SX/TSX/TSVX 50/60 1 12,00
6 RG102928 ASTA SPACCAPASTA IMP SX/TSX/TSVX 1 36,00
7|RG102616 SPIRALE IMPASTATRICE SX 50 1 275,50
7 RG101511 SPIRALE IMPASTATRICE SX 60 1 286,90
8/RG102644 VASCA IMPASTATRICE SX 50 500X300 fissa 1 374,00
8 RG102527 VASCA IMPASTATRICE SX60 600X300 fissa 1 595,00
9/RG102823 ALBERO+PIASTRA SUP. VASCA SX/TSX 50/60 1 174,00

10/RG100829 CUSCINETTO 6206 2RS 1 6,60
11/ RG100823 CUSCINETTO 6206 ZZ 1 6,00
12/RG102593 SUPPORTO INF. VASCA IMP. SX 50/60 1 58,50
13/ RG102870 CATENA SX 50/60 1/2 123.5p +GIUNTO 1 52,80
14/RG102813 MOZZ0O+CORONA ALBERO VASCA SX/TSX 50/60 1 146,00
15/ RG102721 COPERCHIO FILO IMP SX/TSX 50 1 87,50
15/RG102722 COPERCHIO FILO IMP SX/TSX 60 1 104,00
16 RG102856 MOLLA PER TENDICATENA IMP SX 30/40/50/60 1 10,00
17+18 RGA00421 ASS. TENDICATENA IMP 40/50/SX 1 26,00
19/ RG102452 ECCENTRICO PER COPERCHIO IMP. C/S 2 7,14
20 RG102096 MOLLA ADIPOL 13x32x45 IMP TSV 40/50 2 9,00
21/RG101991 DIST./PERNO STAFFA DI RINFORZO TSV 40/50 2 11,50
22 RG102778 STAFFA RULLO VASCA SX 50 2 24,00
22|RG102779 STAFFA RULLO VASCA SX60 2 24,00
23 RG100834 + RG100835 |[MANOPOLA M55B 6X4,6 X TIMER IMPA+DISCO MANOPOLA 30 MIN 1 7,00
24/RG100833 TEMPORIZZATORE G30M 2C 5025 1 45,00
25 RG102929 CHIUSURA TESTATA IMP SX/TSX/TSVX 50/60 1 144,00
26/RG100895 SEGNALATORE LUMINOSO 1 4,20
27 RG100894 PULSANTE DOPPIO ON/OFF CON CONTATTI 1 24,80
27/RG102846 PULSANTE 2 VEL (1/OFF/2) 1 25,80
28 RG102777 PROTEZIONE LATERALE PLX SX 50 1 8,40
28 RG100940 PROTEZIONE LATERALE PLX S50-SX60 1 6,00
29 RG102924 CARPENTERIA IMP. SX 50/60 1 574,00
31 RG102953 STAFFA PER TENDICATENA INF IMP SX/TSX 1 24,00
32 RG102925 FONDELLO BASAMENTO IMP SX/TSX/TSVX 50/60 1 40,00
33/ RG102797 CATENA SX 50 1/2 79P + GIUNTO BEA 1 46,20
33/ RG102798 CATENA SX 60 1/2 73P + GIUNTO REGINA 1 46,20
34 RG101012 PIGNONE SUP. ALBERO GEN. Z31x1/2 foro 25 1 26,50
35 RG100038 + RG100830 |PRESSACAVO M20x1,5 + GHIERA PER PRESSACAVO M20X1,5 1 5,00
36 RG102231 SUPPORTO UCF 207 NAZ. 1 20,50
37 RG102908 ALBERO TRASMISSIONE IMP SX 50/60 1 86,00
38 RG100890 CENTRALINA TR PER IMPASTATRICE 1 106,60
38 RG100896 CENTRALINA TR IMPASTATRICE 2 VEL. 1 163,00
39 RG102563 ASS. RIDUTTORE NMRYV 090+FLANGIA FA(90B 1 422,00
40 RG102714 MOTORE M100 TR 400V B5 kW 3 4P 1 357,00
40 RG102562 MOTORE M100 TR 400V B5 kW 3,3/2,6 2/4P 1 402,00
41 RG102848 PIGNONE ALBERO GENERALE Z14 x 1/2f. 25 1 17,50
42 RG100796 CAMME DI REGOLAZIONE COPERCHIO S 1 6,60
43 RG100198 MICROINTERRUTTORE DI SICUREZZA 1INC+1NO F 1 18,00
44 RG100855 SUPPORTO MICRO IMPASTATRICE S 1 7,80
45 RG100797 ASTA COPERCHIO IMP S30/40/50 1 8,46
46 RG102926 CHIUSURA POSTERIORE IMP SX 50/60 1 38,50




NUMBER CODE DESCRIPTION QUANTITY |NET PRICE
1/RG100876 Bearing 6205 2RS 2 9,00
2 RG102809 mounting plate for bearings of the spiral 1 5,60
3/RG100801 Pinion of the spiral Z16x1/2 hole 25 1 14,50
4/RG102808 Mounting of the dough mixer SX 50/60 spiral 1 150,00
4 RG102749 Foot of the dough mixer SX 50/60 4 11,50
5/RG102927 Plate covering slotted holes of dough mixer SX/TSX/TSVX 50/60 1 12,00
6/RG102928 Dough breaker for dough mixer SX/TSX/TSVX 1 36,00
7 RG102616 Spiral of dough mixer SX 50 1 275,50
7/RG101511 Spiral of dough mixer SX 60 1 286,90
8/RG102644 Bowl of dough mixer SX 50 500X300 1 374,00
8/ RG102527 Bowl of dough mixer SX60 600X300 1 595,00
9/RG102823 Drive shaft + bowl mounting plate for SX/TSX 50/60 1 174,00

10/RG100829 Bearing 6206 2RS 1 6,60
11/RG100823 Bearing 6206 ZZ 1 6,00
12/RG102593 Lower mounting plate for dough mixer bowl SX 50/60 1 58,50
13/RG102870 Chain SX 50/60 1/2 123.5p + gasket 1 52,80
14 RG102813 Hub + toothed wheel for dough mixer SX/TSX 50/60 1 146,00
15/RG102721 Wire lid for dough mixer SX/TSX 50 1 87,50
15|RG102722 Wire lid for dough mixer SX/TSX 60 1 104,00
16/RG102856 Tensioning sprocket for dough mixer SX 30/40/50/60 1 10,00
17+18 RGA00421 Tensioning sprocket assembly for dough mixer 40/50/SX 1 26,00
19/RG102452 Eccentry pulley for dough mixer. C/S lid 2 7,14
20 RG102096 Spring ADIPOL 13x32x45 for dough mixer TSV 40/50 2 9,00
21/ RG101991 Spacer/support bracket pin for dough mixer TSV 40/50 2 11,50
22/RG102778 Bowl roller bracket for dough mixer SX 50 2 24,00
22 RG102779 Bowl roller bracket for dough mixer SX60 2 24,00
23|/RG100834 + RG100835 |Knob M55B 6X4,6 for dough mixer timer + 30 minutes knob plate 1 7,00
24 RG100833 Timer G30M 2C 5025 1 45,00
25/RG102929 Upper plate for dough mixer SX/TSX/TSVX 50/60 1 144,00
26 RG100895 Luminous signal 1 4,20
27 RG100894 On/Off switch 1 24,80
27 RG102846 2 speed switch (1/0OFF/2) 1 25,80
28|RG102777 Side protection plate PLX for SX 50 1 8,40
28 RG100940 Side protection plate PLX S50-SX60 1 6,00
29/RG102924 Body of dough mixer SX 50/60 1 574,00
31/RG102953 Bracket for lower tensioning sprocket dough mixer SX/TSX 1 24,00
32|RG102925 Bottom plate for dough mixer SX/TSX/TSVX 50/60 1 40,00
33/ RG102797 Chain of SX 50/60 1/2 79P 1 46,20
34/ RG101012 Upper pinion of the shaft Z31x1/2 hole 25 1 26,50
35/RG100038 + RG100830 Cable holder M20x1,5 + ring for cable holder M20X1,5 1 5,00
36 RG102231 Mounting bracket UCF 207 NAZ. 1 20,50
37 RG102908 Trasmission shaft for dough mixer SX 50/60 1 86,00
38/RG100890 Control unit threephase 1 106,60
38/RG100896 Control unit threephase for dough mixer 2 speeds. 1 163,00
39/RG102563 Assembly reducer NMRV 090 + flange FA(90B 1 422,00
40 RG102714 Engine M100 TR 400V B5 kW 3 4P 1 357,00
40/RG102562 Engine M100 TR 400V B5 kW 3,3/2,6 2/4P. 1 402,00
41 RG102848 Pinion of the main shaft Z14 x 1/2 . 25 1 17,50
42|RG100796 Regulation cams for dough mixer S 1 6,60
43/ RG100198 Safety microswitch INC+1NO F 1 18,00
44/RG100855 Microswitch mounting for dough mixer S 1 7,80
45 RG100797 Lid rod for dough mixer S30/40/50 1 8,46
46/RG102926 Rear plate for dough mixer SX 50/60 1 38,50




